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Chapter 10 — Problems
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Note That at the end <f &, , The voltage across C
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Since ‘é/te, Eero (S T O rg4ther %Qﬁ ._// we

Cannot use a 6chin eq ™ ‘éranc-ﬁykm . Erom example
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103F) The transfer fonctaon s ﬁiven by (10.33). Svbstititing the
Hlven cwahnm/we haug -

H(z): o1z
1.1z -1

At dc« z=1, HM =1, XHM =0

At fs/q.. Z=y , W) =0.673 X -42.23°

At fs/, s Z=-1, W(-D=004Fb Lo
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10.94)  The transfer functon poles are the Zcmsa{ the densmunador.
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The positue jump of Vy 14 skll Ky (Vsg+Vpp) as before .
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Or, efuuvalmdly (CISSUan Vs = VDD)
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